—RHEFEAEEDLOUEERE

Fr 201 9FEEEMATYa—IL

e 18 28 38 4R 5A 6 A 78 8H 9H 10AH 11H 12H
HEL 128 148 148 118 98 138 118 8H 128 8H 148 128
ARAVIRE 25H 28H 298 25H 23H 2780 25H 22H 2780 248 28H —
ne 25H 268 20H
68
s = 228 178 10H -
ROVBHWRERR ERAPN E—pi% E—pi% Bohs
ZER
BhUH 5 mz_“ng mz_‘r’aA 218 268 30 20
WIELREES sarpe | ma ERES EERSAR E—pi% we
1 6H
BERE 2—plz | Bs-H2
Javsk: |EEBRAS
B e B
KRYERE E—hle
NP . 108 58
BhYREE F—T ERIES
e IS = AES
Z Dt TEAREIE | ammE NP Ef i BOERY
AR B fmER (F&mh) SPF
BEIOvs
B ASETE A
=3 = 118 268 268 23H 28H 248 29H 268 2980 304
RRRBA=E (BREE) 0 0 0 0 0 0 0 0 0
SHERICER 208 ~21H (0H~138 308
178~208 | 228 ~248 B Ay 2EAS o
e | anam Javsks 68 = | FevoRs
R AN (FN) | EE#RARS = 98
(ER) Conirg
JOIR 3 198 ~22H 45 ~8H
Hhish £ 5% 2
(SE/FM) (TAR=7)




